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Os20 M5 BHME =2 24,000
= 12,000
= 12,000
Nses22 82s(X) 60,000 60,000 0
= 60,000
308 XHXIEHHI S 0| 60,000 60,000 0
= 60,000
01 A H B LB ES 60,000 60,000 0
Os2lIe22 oMY =T 60,000
= 60,000
=BT SHABH(HE) 62,000 206,000 A 144,000
=2 31,000
= 31,000
101 Q1248 15,944 16,000 A56
= 7,972
& 7,972
04 JARBRRE 24 15,944 16,000 AB6
OFYIE FZAUSHAY BT
40,4802 x22 * 1812 14,654
=2 7,327
= 7,327
ouzn=g:z 1,290
= 645
= 645
201 YEr2gy| 29,056 61,000 ~31,944
= 14,528
= 14,508
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B9 sHAYF L (B9 &)
SA - SR(E) - HRAY - BES 01l &4 24 e HIRE
01 At2r2IH| 29,056 61,000 ~31,944
OLBtgH| 20,000
= 10,000
= 10,000
osg4+g 5,086
- =9AY oF 1S 2,556
= 1,278
= 1,278
—HRANY L HADS 2,500
= 1,250
= 1,250
SEET 1,000
= 500
= 500
oYxz 3,000
=2 1,500
= 1,500
202 018l 8,000 8,000 0
= 4,000
= 4,000
01 2LHOI ] 8,000 8,000 0
OXNRE, A0Sl 29 =/ 8,000
= 4,000
= 4,000
206 TH 2 | 3,000 3,000 0
= 1,500
= 1,500
01 HE bl 3,000 3,000 0
OIS L AOIH BAIS HETL 3,000
= 1,500
= 1,500
301 YR AS 6,000 24,000 ~18,000
= 3,000
= 3,000
NEV e 6,000 12,000 6,000
OIBNS, AOIHH BA BET B4 24 6,000
= 3,000
= 3,000
SUAYIIE FHABH(X) 43,000 68,000 £25,000
= 43,000
308 XX EHHI S OI & 43,000 68,000 £25,000
=2 43,000
01 XIS ZABES 43,000 68,000 £25,000
OYYIs BFAUSIAY =X 43,000
=2 43,000
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101 o124 4| 96,796 80,574 16,222
4 It 22 XNSE+ 96,796 80,574 16,222
OMA &EAX HEAIE BX018
40,4803 x2H %2252 18,216
OMa S22 WY AlE EX08
40,4803 *3H *200! 24,288
OM4 24 U 5122 2gole
40,4803 x2H 180 14,573
ON2TH 29 22X 0%
40,4803 x3H 250 30,360
@)=FSEa=— 9,359
201 L Et2HH| 147,892 163,002 A 15,110
01 AR 22|l 8,400 8,400 0
Odet2H| 7,200
—UBtAARSZH| (K0 HR) 7,200
(@I E==1s] 1,200
~NEA Y28 Kol Xtols)
100,000& x12H 1,200
02 S32gH| 139,492 154,602 A 15,110
Od =l 136,492
- A AESIRA 1,857 & =100 *47Lx50H 43,640
-2dFgEH 1,857& =100 *75L 13,928
- Fel=24 1,857&*100L *x64 .5 £ =2CH 23,956
- BEHAH=24
1,857&*100L x74 ¢ ~4CH 54,968
OA & &EHI KX ] 3,000
- 24 2 o5HRA B 3,000
207 S IH | 56,600 65,000 A8,400
03 A& 22| 56,600 65,000 A8,400
OlMa S&2e e Alg e
450,000& x125+33| 16,200
O 24 2 5IA 29 HE
280,000& *30ax1.5%F 12,600
OMa &EAX N AIE X
300, 000& x20= 23| 12,000
OMA Bl2A HY & XHH 320,000& x10= 3,200
OalZ2sd 29 AN 350,000& x18& 23| 12,600
301 LEtB A= 1,050 1,050 0
12 J|Et2 A2 1,050 1,050 0
OMA X AlgEZE B4 30,000 *35a 1,050

_15_




A ERt=PIEL:!
o sUIEHL

Sl OIS AW D o7 (Brol @)
_ _ _ Muo
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SEE-EX-F 6,707
201 L2 Y| 46,270 45,630 640
02 ZZ2H| 46,270 45,630 640
oelgyl 18,570
~ D AIEEIRA  1,8572%1002 50 4 *2CH 18,570
SNEETES 27,700
~ B =1 4 300,0002 *10CH 3,000
- E2g 2l 1,500, 0002 *2CH 3,000
- 5012 REY 300,000 *10CH 3,000
-2A%J |74 600,000 *2CH 1,200
-D MEY QB AL 24 4,000
~ D4 HTAIL 2ARLY(G2A S)
4,500,0002 *35 13,500
207 1IN L b 32,832 32,832 0
03 Al& el Y| 32,832 32,832 0
OB+ THHH A& XX 60,0002 *300a 18,000
OB+ PSYES MAAIE
4,000% *4 2} 2005 3,200
OB 524 HlY L XA 320,008 <85 2,560
OB4 3RA 29 X 362,8802 *25a 9,072
301 YuHB A 1,400 1,400 0
12 JIEt2 A2 1,400 1,400 0
OB+ BX NBEE B4 35,0002 *40a 1,400
GRS = 464,474 288,872 175,602
101 Q1214 54,672 46,043 8,629
VPIEREES=TES 54,672 46,043 8,629
Ostgl Rel2a 2 5tex 29os
40,4802 »2 * 1802 14,573
O3l SETUH AIBOIE 40,4802 %32 +1802 21,860
O™y AWM Below
40,4802 #1241 » 1802 7,287
Osswsl 2l o 40,4802 %1502 6,072
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sgll=d
sZl=he
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SN C(BH) - NRAY - HES Aro L=t HlmE2
Ol &k
OAE25s oAl NIEZE 24 30,0008 *35a 1,050
20 &3y =s a3 2,900 2,900 0
201 LBr2g | 1,700 1,700 0
01 At 2teltl 1,700 1,700 0
Ol 1,100
-dEsIH A= 23R g2
5,000& 702 *232] 700
—dD|= B RAY 2HEXNE 22
2,000 * 1005 x23] 400
ouxz 600
~HE S0 BXGAN T At
00,0003 » 12 = 1CH 600
301 et a3 1,200 1,200 0
10 AR HIE &2 1,200 1,200 0
OHSEI BGA EH 24
30,0003 *30E x1 900
Odldle RIZIBRAE 22 F4Tt 24
5,000& x30H x23| 300
NSEARD B ZH (A0SR, AE) 160,000 1,294,000 21,134,000
2 80,000
= 80,000
401 Al HIZL 2 0HYI 20,500 1,250,000 21,229,500
& 10,250
& 10,250
01 Al &l 20,500 1,227,457 A 1,206,957
O30 o7 J|gt =4 20,500
- MHd2HED 20,500,000 * 14! 20,500
2 10,250
& 10,250
405 RHebFE S HI 139,500 44,000 95,500
2 69,750
& 69,750
01 ARt 2EFH S| 139,500 44,000 95,500
OJU Al &HHl 22 139,500
—-g2gs)| 15,000, 000& *34! 45,000
2 22,500
= 22,500
-2 HEHAIAE 9,000,000 *104] 90,000
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M sYII=He

Sel: BOIRE YW M o7 (eel: &
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SA - SR(E) - HRAY - BES 0 & 24 i HIRE
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401 Al &8I 2 S OHY| 248,000 0 248,000
= 124,000
< 124,000
01 Al &t 237,326 0 237,326
OMSTE HAZ LTAL &X 237,326
— Al H| 226,456,000 * 14} 226,456
=2 113,228
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— A AIEH b 226,456, 0002 *4. 8% 10,870
=2 5,435
= 5,435
02 22l 9,044 0 9,044
OMSTE BHYZ LTAL &X 9,044
2 4,522
= 4,502
03 Al & S CHHI 1,630 0 1,630
OMSTE HYZ LTAL &3 1,630
=2 815
= 815
NePsY MADlE HY 560, 163 696, 139 £135,976
= 23,000
= 537,163
dsAegsHl o7 219,951 212,791 7,160
101 @124t 102,320 98,509 3,811
04 JIZH2ENSES 102,320 98,509 3,811
OEYEY ABA BEH 40,4802 5% 1622 32,789
OEYHIEOIANE 2HR RIS
40,4809 x22 %1622 13,116
OEYE ANEAY TR
40,4809 x22 52202 18,540
OEYHISASAE SNBZ22I0=
40,4801 12 5642 2,591
O=8s SAPXR 40,4802 <22 1642 13,278
OHASYIIENHY 2x0%
40,4809 x22 »1502 12,873
ogmRu3 9,133
201 YLetS A H| 49,031 45,682 3,349
01 AL 22/t 5,300 5,300 0
Ot 4,000
- AP NS (FBB AR 4,000
om=t| 1,300
—ANBA A Zei= xels)
10,0002 * 132 1,300
02 2=l 43,731 40,382 3,349
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350,000 6= 2,100
207 A< IH | 68,000 68,000 0
03 Algl & 2H| 68,000 68,000 0
OELEA 2,200& +1,000&5+84 & 17,600
OAZSHMEA 2,200& +1,0008 54 & 11,000
OSHSE L Y84 SHA
110,000 158 +64 & 9,900
OESHIZAEMES(H) 80, 000& *30a 2,400
OEYHIZAEME () 70,0003 *34a 2,380
OEYHIZ o2l 24
8,000& x84 &2+230& 14,720
ORII=sSIlsHY 50,0003 *40& *53] 10,000
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12 JIet243 600 600 0
OE2HISANE sa2d= 30,000& *20a 600
gols ASFH Sgael A7 119,390 112,350 7,040
101 @1 2d| 55,783 53,705 2,078
04 JIZtH 22 HEES 55,783 53,705 2,078
OXsEs gy EXx0F
40,4802 *4H 165 26,717
OXSES AEAY ZaE&2L
40,4802 x2H 150 12,144
Ogclas &SAE slzdace/es
40,4803 x1H «65¢ 2,632
OZSUHAL =25 2HeUR
40,480 »1H*230 9,311
OHIERES=S 4,979
201 et A | 17,407 17,145 262
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-2 sANE 5X 500,000& 45 2,000
—gel2Es LEHAIEDJIJIR Xl 300,000 45 1,200
—MEHA AR 130,000 *12& 1,560
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03 A& & 2H| 44,500 39,800 4,700
OFSZANEL AIEME 200,000 *30& 6,000
Odela2s ANEMaE(H) 80,000& *30a 2,400
Odel2s ANEMaE(E) 70,000& *30a 2,100
OsAdES=LAMSE AEME 400,000& 65 2,400
O2SMSA AIENZ= 120,000& *10& 1,200
OBHNBUH LHALABNZ
100,000 *85& 8,500
O=SUth a8z
120,000& *105 1,200
O2EXHE 23  1,000,000& *1JH 2 +62] 6,000
ORE2Z ASAEMN 2,000,000& *5& 10,000
O Bt =0l A= =4I 170,000& 105 1,700
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150,000 *20& 3,000
301 B2 &= 1,700 1,700 0
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OsAE=SEAMNE B&4(H 30,000& *20a 600
SMAZIHY AR 66,926 64,900 2,026
101 el d| 32,892 31,666 1,226
04 J12tH2Z22 32,892 31,666 1,226
OJlsd4 B 2geR
40,4803 x3H 180 21,860
OsétE FIIHX g 2XolR
40,4803 x2H 100 8,096
Oog3RH 2,936
201 Yot Y| 8,034 7,234 800
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— A2t =% 7,410 15A1 2tx 122+ 13 17,340
—Gxt=g 39,5003 x25& «13& 12,838
-5+ 39,500 x 1042 x13H 53,404
-SL2FRE 59,2503 x 12«13 9,243
- g &5ty 300,000& *22| x13H 7,800
OHIRE= 25,671
-ZUH=REs 13,127
- JUE2ERES 4,084
- MMM EE = 8,460
204 AP a=HAH| 204,780 219,540 A14,760
02 g 2 & 204,780 219,540 A14,760
Og et 34,620
-2 650,000 x1E *12& 7,800
-4 400,000 »2& =12 9,600
-5 250,000 x 18« 128 3,000
-6=2 155,000& »2H «12& 3,720
-7s 140,000 42 »12& 6,720
-8~92 105,000% x3E *x12& 3,780
Oo|+ XNEH 150,480
- 242 &)
400,000 x9& «12& 43,200
o N2 (52 &)
250,000 x6E 12 18,000
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M UHS AP (5YIIEH)
ool ol e gyl (Etel: &8
_ _ SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K '@,‘;OH Hlw &2
-3 NS AHBSE Ol4)
15,0002 +48% * 122 89,280
OJIsH 19,680
-63 15,0002 %22 * 128 3,720
-73 140,0002 +8% x 128 13,440
-8-02 105,000 x22 * 128 2,520
oS (HHE HAHUR) 23,763 18,927 4,836
= 11,881
= 11,882
101 21248 23,763 18,927 4,836
= 11,881
= 11,882
03 RN HAZEXE S 23,763 18,927 4,836
o8+ 21,840
-23 39,5002 x2492 + 1% 9,836
= 4,918
= 4,918
- 4012 9,836,000 / 12+400% 3,279
= 1,639
= 1,640
3254y 9,836,000 10% 984
= 492
= 492
— Aol ag 7, 41020 % 15A1 2 122 %12 1,334
= 667
= 667
P 39,5009 25! 988
= 494
= 404
-FE$Y 39,5009 1042 *1% 4,108
= 2,054
= 2,054
-guaesy 59,2508 1224 +1% 711
= 356
= 355
- YR EIHY| 300, 000! 23/ %1% 600
= 300
= 300
ol=E-L=1=1 1,923
= 91
= 962
o=l 281,325 268,789 12,536
DL 281,325 268,789 12,536
201 Ye2 Y| 97,645 93,469 4,176
01 At 22l 90,630 86,454 4,176
OPIEES=T] 6,530
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